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LABOUR WELFARE AND INDUSTRIAL RELATIONS
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All the

questions are compulsory.

Which of the following principles of
management was not given by Fayol 7

(A) Unity of direction

(B) Subordination of individual
interest to common interest

(C) Stability of tenure
(D) Standardisation

Arrange different phases of
Hawthorne experiments in their right
sequence :

a. Relay assembly test room
experiments

b Bank wiring observation test

c INlumination experiment

d.  Personal counselling

e.  Mass interviewing programme
(A) a/ b, c,d e

(B) c,a,e, b, d

(C) c,b,e,a d

(D) e dyc ba

Delphi technique is used in
{A) Organising

{(B) Operating

(C) Staffing

(D) Forecasting

Narrow span of control results into
(A) Tall structure

(B) Flat structure

(C) Mechanistic structure

(D) All the above

Paper-11

Which of the following is correct about
‘Grapevine’ ?

(A) It tends to exist when members
of formal group know one-
another well.

(B) It is the result of social forces at
work place.

(C)y It is more common in times of
high organisational excitement.

(D) All the above.

The following concept is developed on
unitarism, individualism, high
commitment and strategic alignment.

(A) Personnel Management
(B) Human Resource Management
(C) Industrial Relations

(D) Personnel Administration

Human Resource Planning include
(A) Scenario planning

(B) Action planning

(C) Demand and Supply forecasts
(D) All the above

Which one is not a part of recruitment
process 7

(A) Determining requirements

(B) Planning recruitment campaign
(C) Attracting candidates

(D) Selecting candidates
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ugas — 11
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(A) ab,c,d e

(B) c,a,e b, d

(C) c bead

(D) e d,c b, a
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10.

11.

Which one is not a non-quantitative job

evaluation method ?

(A) Ranking method
(B) Grading method
(C) Point rating method

(D) Job-classification method

Consider the following punishments in

disciplinary actions :
(i) Warning

(ii) Demotion

(iii) Censure

(iv) Dismissal

Which of the above fall under minor

punishment ?
(A) (i) and (i1)
(B) (i), (ii) and (iii)
(C) (1) and (iii)

(D) (i), (i) and (iv)

Which of the following factors are
included in the calculation of human

development index ?

(A) Life expectancy

(B) Adult literacy

{(C) Decent standard of living

(D) All the above

Paper-11

12.

13.

14.

15.

Who is mnot associated  with
development of human development
index ?

(A) Mahabub-ul-Haq
(B) Manmohan Singh
(C) Meghnad Desai
(D) Sudhir Anand

The sequence of human resource
development activities according to
Leonard Nadler are

(A) Education,
development

training and

(B) Development,
education

training  and

(C) Training, education and
development

(D) Training,
education

development  and

Who introduced the concept of quality
circles in India ?

(A) P.V.Rao

(B) Udai Pareek

(C) Dharani P. Sinha
(D) S.R.Udpa

Which of the following is the correct
sequence of training evaluation ?

(A) Reaction, learning, behaviour
and results

(B) Learning, reaction, behaviour
and results

(C) Learning, behaviour, reaction

and results

(D) Reaction, learning, results and
behaviour
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10.

11.

frffaa & @ ®F @ W aEes wE
Heate fafer T8t & 2

(A) e fafy

(B) ufem fafy

(C) e e faty

(D) A ST faty

S FaE § fretafEd g8 ™
foam it

() S

(i) OEAr

(iii) ST

(iv) S@EET

ST H § B IS BT T 2
(A) (i) 3 (i)

(B) (i), (ii) 3R (iii)

(C) (i) & (i)

(D) (i), (i) 3 (iv)

gFe T gasie & Ehe e o
fAffea § @ =9 9 $H B WHA
fopan ST & 2

(A) ST SwraAT
(B) e foram
(C) =¥ S &R
(D) ST Tt

12.

13.

14.

15.

ffarfEd § | ®F A1 [ gasmhi
% T & & g1 &

(A) EII-IAEEH
(B) = HlET &e
(C) HEAE 59T
(D) R <

A E 78t & AR AFE  GEred
foremrer fomam ol 1 31 &

(A) Torem, uferaror SR fasm
(B) forhra, mferetor S feven
(C) iremaror, fvem SR fereprar
(D) wfereror, faepma i forem

qRA § T[T HeeT st GheTT T 3R
forem feram & 2

(A) U, T
(B) }T URE
(C) &= T, famer

(D) THIAR IS

TRTETOT Jodish 1 Tel e fefeiad o
HIT AT ?

(A) WidfsHaT, e, SFeRR 3R giom
(B) 3ferT, icifsha, SeeR X aioms
(C) 3T, ERR, HiafHar 3K 9o
(D) fdfskan, iferm, TR 2R SRR



16.

17.

18.

19.

Which of the following is the outcome

of job satisfaction ?

{A) High employee turnover
(B) High productivity

(C) Absenteeism

(D) All the above

Under Alderfer’s ERG theory, the

three core needs are

(A) Emotional,
Growth

Relational, and

(B) Emotional, Rational and Growth
(C) Existence, Reliability and Gain

(D) Existence, Relatedness and

Growth

The group to which a person would

like to belong is known as
(A) Primary Group

(B) Membership Group
(C) Reference Group

(D) None of the above

The Managerial Grid was given by
(A) Rensis Likert

(B) Kurt Lewin

(C) Hersey Blanchard

(D) Blake and Mouton
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20.

21.

22,

Arrange the following stages of group

dynamics in right sequence :

a. Norming

b.  Performing

c.  Storming

d.  Forming

(A) d,c,ab

(By a,b,c,d

(C)y d,c.b,a

(D) c,d.b,a

Identify the cormrect definition of

industrial relations :

(A) Relations

human beings

between or among

(B) Relations between employer and

employees as individuals

(C) Relations between parties in an

employment context

(D) Collective relationship between

management and trade unions

Who has

concept of industrial relations ? Find

propounded the system

out from the following :
(A) L.N. Allen Flander
(B) L.N.Flax

(C) John T. Dunlop

(D) Neil N. Chamberlein
J-55-12



16.

17.

18.

19.

frefafed & @ &9 @ F& Gqe w5
oo & 2

(A) =9 FHIR HRER
(B) S Scurgehel
(C)  erpareata

(D) ST Tt

TS § R SN f9gid & @R o
(A) W=, AUE 3R TghE

(B) WIS, iRt 3R Tgfg

(C) i, favaigar 3 omy

(D)  31ic, Tauar Y dgts

FiE Al 9 T8 4 T Aedr € 39
FEd T

(A) e I

(B) HEE W

(C) w o

(D) SogH | W HE T

e firs frefafea = fear &
(A) W fotee

(B) &< Al

(C) & =S

(D) =i 3R Hied

20. THE H A P HETeRad stawneT H

21.

22,

TE A H TR
a. VicAE

b. T R
c. Tt

d. TR AT
(A) d,cab
(B) ab,cd
(C) d,cb,a

(D) ¢, d,b,a

SENfTer Tyl TEl G Sd12T

(A) TH A ¥ g Al a1 Al
& o Gy

(B) oSt TR HH=INAT & aa W e
& ® 0 gy
(C) Taem & ugm § weeRl & 99
..
(D) VEYser 3R TG Gd & S
o 4

AR GeaT ot JUTe! Gehoa T & fohae

99R foman €, frefafad § 9 saRy
(A) TATH, Teld Fofet

(B) UALTA. Wi

(C) <. sTom

(D) AT, I



23. Which is the comrect order of 26. Which of the following is not a
settlement of industrial disputes ? characteristics of Trade Union ?

. . (A) Is an association of employers or
a.  Industrial Tribunal
the employees or of the

b.  National Tribunal independent workers ?

L (B) Is vrelatively a  permanent
c.  Conciliation L
combination but not temporary

d. Labour Court or casual.

(C) Is an association of workers who

(A) c.adb . .
are engaged in mnot securing
(B) ¢ d ab economic benefits for their
members.
(€) adeb (D) Is influenced by a member of
(D) c.b.d.a ideologies.
27. Recognition of trade union is made by
24. Which of the following is not a the provision of
Tripartite body ? (A) Trade Unions Act of 1926

(B) Industrial Dispute Act 1947
(C) Code of Discipline
(DY) Factories Act of 1948

(A) Works Committee
(B) LL.O

(C) Indian Labour Conference

(D) Wage Boards 28. Which is not a structure of Trade
Union of Industrial Organisation ?

(A) Craft union

25. The code of discipline was ratified by (B) General union
the Indian Labour Conference to (C) Industrial union
ensure discipline in industry. Identify (D) Consumers’ union

the year of ratification out of the

following : ] .
29. A Trade Union should be registered as

(A) 1957 per the law must have
(A) 20% of the workers
(B) 150 workmen

(B) 1958

(C) 1942 (C) Minimum 17 persons

(D) 1962 (D) None of the above
Paper-I1 8 J-55-12




23.

24,

25,

JrENTTeR foree o MU o axiehl @ §al
HH T 9

a. 3N =R
b. T ATAIHOT
c. gE

d. o =

(A) ¢ adb

(B) ¢ dab

(C) adocb

(D) ¢, b,da

freforfiaa & @ =9 @1 Suafg fem =@
g9

(A) % gt

(B) STRICT 91 T
(C) YR 99 T
(D) ast s

SO e T YRAE 59 g gRT

3TTERA foRar AT A AT § STRIEA
gHfvad foeam s 9 | Fefeteg 5 9

ST % T I FARY
(A) 1957
(B) 1958
(C) 1942

(D) 1962

26.

27.

28.

29.

FrAfetad & & & 9 foRio gy o

1 fergioem et & 2

(A) = IE [aSe @ wHEE 9t
A HIATRT 6l T E 2

(B) T JE UH HUT AT FHHT
g9

(C) =1 T2 U TR i G & S
A TS & fau e o U
TR HAT & 2

(D) = I8 THdl WS & TaReRT 9
eI &Il € 2

TSIg 9 & Efatad & wEEE gR
(A) TIX G AFEm, 1926 1

(B) sfenfies faars etfafam, 1947
(C)  SFIRmE Hea

(D) HREMT I, 1948

frefetad & @ &4 91 e gmeT &
HSTGY T I e T € 2

(A) THH §F

(B) QM= ¥F

(C) it Tg

(D) ST G

A & TR ASg 99 & 39 ffq |

(A) RISl HEAT T 20 e &l
(B) 150 IR &

(C) &9 ¥ ®T 17 AT &

(D) SYIH A 9 BT T&l



30. The founder of Ahmedabad Textile
Labour Association was

(A)
(B)
(©)
(D)

V. V. Giri

M. K. Gandhi
B. P. Wadia

N. M. Lokhande

31. If there is wilful removal or disregard
by the workman of any safety guard or
other device which he knew to have
been provided for the purpose of
securing safety of workman,

(A)

(B)

(C)

(D)

32. In case of fatal accident

Employer is liable to

compensation

pay

Employer is not liable to pay
compensation

Appropriate government is liable
to pay compensation

The Trade Union is liable to pay
compensation

if the

commissioner serves notice to the
employer based on his source

(a)

(b)

(c)

(d)

(A)
(B)
(©)
(D)

Paper-11

the employer can neglect the
notice.

if the employer thinks liable, he
shall make the deposit within
sixty days of the service of
notice.

if the employer thinks liable, he
shall make the deposit within
thirty days of the service of
notice.

if the employer is not liable, he
shall in his statement indicate the
grounds on which he disclaims
liability.

All statements are correct.

All statements are incorrect.

Only (a) and (d) are correct.

Only (c) and (d) are correct.

10

33.

M.

3s.

(a) Royal Commission on (i)

(c) Second Labour

The matemity leave period with full

wage is

(A) six months
(B) twelve weeks
(C) four months
(D) sixteen weeks

Match the following :

1937
Labour

(b) Bombay Textile Labour (ii) 1946

Enquiry committee
(iii) 1929

Ministers’ Conference

(d) Labour - Investigation (iv) 2002
Committee
(e) Second National (v) 1941

Commission on Labour

(@) (b)) () () (e

(A) @G () (i) Gv) (v)

(B) (i) Gy @) (V) (@)

(C) (i) (v) Gv) @) 34D

(D) i) @G v) ) @)

The goal of ILO is

(A) creation of jobs for men and
women

(B) not just creation of jobs but the
creation of jobs of acceptable
quality

(C) not overcoming under
employment

(D) not to provide freedom of

choice in employment

J-55-12



30.

31.

32,

SRR CHATA o THITgueE &
T o

(A) et il

(B) U, e

(C) <y, afear

(D) TAWA G

Ifg T HEIR TH fHdr geem are =
3T U H STHIS FX Tl & AT STH
I TEl T €, 9 9§ 9 ST §
T o9& SR @ G gHved w %
fow & ar

(A) TTISTe ST ST GTEST AT & |
(B) THais/ &I 3T gamasT &l I
2 |

Tfad TRHR I STHT ST T
2 |

ASX G Bl STHT GIEST ST
B |

(©)

(D)

I ST & WA H A Mg 370

il & YR W st o Aifeq <ar &

ar

(a) THaIST 39 feq =t U T Fehell
3

(b) g (arTe & fTHER SetEn S
T 38 Tfew amier feT ST @
ARIE ¥ 91e 57 & 3eT g=Iien St
T B

(c) g (arTe &l fER e 5 ¢
al 3% Aifeq adfier feT S=
ARG @ o T o 3igT 9T ST
Ezcifauill

(d) AT T o R T8l Saan

ST € At 98 379 He T 39 BRI

F Soorg B, SE SHH

STRRY =& st € |

it P TR |

i o T © |

et (a) 3T (d) TR & |

et (c) 3T (d) TR & |

(A)
(B)
(©)
D)
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33.

M.

35.

T B3 HefatEd e@fy d% 9
e &t et § 2

(A) @ WE

(B) Ne 9

(C) IR e

(D) HicT® T«

ffetiaa =i o i ;

(a) S SN AR (i) 1937

(b) GaE JHIEA AT (i) 1946
ST afgfd

(c) fsi s EmRT BT (iii) 1929
T

(d) &= ST |t (iv) 2002

ORERERE ) (v) 1941
T
@ b © W (&)

(A) ) (@@ > Gv) (V)

(B) Gi) @) @ (v)  (v)

(€ i) (v) Gv) 1) (1)

>y i)y @ (v) @) (v)

HANTST 4 TS 1 8T &

(A) T 3R Afeewrsdi % feu St U
EZCI

(B) ool STl &l UST el ST 3T Sirer
1 T TOTET A UST BT

(C) T TSTIR T b1 THET 1 & BT

Tet
TSR T =3 ol Tl USH HT
Tet

(D)
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36.

37.

38.

39.

The Payment of Bonus Act, 1965 is
applicable to an employee who draws
wage or salary of

(A) ¥ 3500 in case of apprentice

(B) % 5000 in case of apprentice
and employee

(C) ¥ 7500 in case of employee
only

(D) % 10,000 in case of employee
only

Unfair Labour Practices are listed in

(A) the Factories Act, 1948.

(B) the Industrial Employment
(Standing Orders) Act, 1946.

(C) the Industrial Disputes Act,
1947.

(D) the Trade Unions Act, 1926.

The Minimum Wages Act, 1948 has
(A) one schedule covering different

types of industries.

(B) one schedule covering different
types of industries, shops and
establishments.

(C) one schedule covering shops
and establishments.

(D) two schedules covering

industrial establishments and
agriculture.

If deduction is made contrary to the
provisions of the Payment of Wages
Act, 1936 the aggrieved employee can
write to the inspector appointed under
the Act within the time period given
below from the date on which the
deduction from wages was made or the
date on which the payment of wages is
due

(A) two years
(B) one year

(C) twelve weeks
(D) six weeks

Paper-11

12

40.

41.

42.

43.

The maximum daily hours of work in a
day with normal wage allowed in
factories is

(A) 11 hours
(B) 10 hours
(C) 9 hours
(D) 8 hours

Assertion (A) : Intra-mural and extra-
mural welfare are mutually
complimentary.

Reason (R) : The work-life balances
need to be ensured in order to
get the best output from an

employee.

(A) Assertion is wrong but Reason
is logical.

(B) Both Assertion and Reason are
wrong.

(C) Assertion and Reason are right.

(D) The Assertion is right but

Reason is wrong.

Which of the following statements is
not true in explaining the concept and
scope of labour welfare 7

(A) Labour welfare has no roots in
social work.

Long Arm of the job and social
invasion of workplace’
concepts, explain the mutuality
between intramural and extra-
mural labour welfare
Labour welfare is a
concept.

Corporate social responsibility
is an extended concept of
welfare.

(B)

(C) social

(D)

Who is the champion of the “Welfare
movement’ propagated in mid 19™
century ?

(A) Frederick Winslow Taylor
(B) Andrew Ure

(C) Sheebhom Rownlvee

(D) Robert Owners

J-55-12



36. Y GRIE AHEH TH FHEARET T AN

37.

38.

39.

gm%,aﬁﬁﬁ%iﬁaﬁmgﬁméﬂﬁﬁ

(A) WfeTe] % =AM | T 3,500

(B) U] iR &FHeRl & wHel H
% 5,000

(C) haet HHARI & AEA B T 7,500

(D) FoA HHEHAR H  HEA H
Z 10,000

3T o1 URuet W HETatEd & oe
FHETE BT Sl €

(A) HREMT AT, 1948

(B) ofmifier fEeH (R arEE)
rtafTad, 1946
et faarg atfufam, 1947
TIgT 99 S4EH, 1926

=AY TeTgdr A, 1948 o

(A) TH UH gl ¥ T o
faf= TR & ST o1 &

fafi= weR & @, gEE SR
TYATE 3Tt &

T U it § fE sie
AT TR 3R H STt &
3TIENfTe WO 1] $Y & Fafd
3 Frgaat

T ASIG W] U2, 1936 o WTae=i
F famid At & S & A s
FIAN 39 dR@ F 9 < T ey &
3TT 39 oMt & o fagea ieTes
# for@ Thar ¥, 9 aR@ @ 3T
A | Fr S B A1 o anE '
ST T TR 3 &

(A) oy

(B) THaW

(C) 9RE 9

(D) ©¢9«’

(C)
D)

(B)

(©)

D)
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40.

41.

42.

43.

fopelt SR # WA ATgdt A U 5
T Fifueshay STAT 3feh w1 15

(A) 11898 e |

(B) 1088 E |

(C) 9 E |

(D) 8T |

Afie (A) : IR Ui ok s fufa
FHeT0T TER Th S & [T & |
& (R) . FESTET Hqem w
gifyad w1 emevas & i fwdt
FHAR T T 1 o7 5T T |
AMTFIT  TId §, e A%
IR & |
M 3R T I TTord § |
AT 31T % T € |
NMIFHIT Wl &, AlhT o T
T

(A)

(B)
(©)
(D)

Y oA Tl GeheddT A fa&d] & T
| FEfiEad § 9 S |9 U 98
TR E 9

(A) &9 HeAUT Bl TS, WS HF §
T |

FF HF O AR HE WA 5
qHTSTes  SAfAshHoT Sl Gehod T
AaRe M X oy WM osm
FHAUT & S TRENHAT I T
FATE |

ST THeAT0T Teh HIHTSTSh Tehod T € |
T =1 AT ST FHeaToT
HehoUmT ol o] & |

(B)

(€)
D)

198t vaE % HE W OUHING o
AR o AR B & 2

(A) TheRe foett To

(B) dgH

(C) Iy et

(D) & AR
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44. Sequence the following developments
by their period of occurrence from
earliest to the latest :

(1) The Labour Investigation
Committee

(i1) The Whitley Commission

(iii) The Enactment of Factories
Act

(iv) The 1% National Commission
on Labour

(A) () (@) @D (dv)

(B) () @Gu) @v) @)

(©) @ Gy Gv) (i)

(D) Gv) G 4 @)

45. Which of the following statements
relating to Welfare Officer is not true
(A) The provision of Welfare

Officer is given in both the
Factories Act, 1948 and the
Mines Act, 1952.

(B) Welfare Officer’s duties and
responsibilities are defined and
prescribed in the legislation.

(C) Welfare Officer’s appointment
is tagged to the provision of
minimum workforce employed
in an organisation

(D) The Welfare Officer’s role was
designed as a “Third force’.

46. Which of the following statements
about characteristics of labour is not
true ?

(A) Labour is a  perishable
commodity.

(B) Labour cannot be separated
from the person.

(C) Workers have no reserve price.

(D) Labour is as flexible and
mobile as capital.
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47.

48.

49.

50.

Which of the following statements
about labour market is not true ?

(A) Labour market like commodity
market is analyzed by supply,
demand and price equilibrium.

(B) Labour Market is relatively
more local than commodity
market.

(C) Unlike a commodity market,
the relationship between a
buyer and seller in a labour
market is not temporary.

(D)  Monopoly in the labour market
is high.

Money Wage is otherwise called as
(A) Real wage

(B) Living wage

(C) Nominal wage

(D) Fair wage

Wage Boards set right

(A) Inter-regional differentials
(B) Inter-sectoral differentials
(C) Intra-industry differentials

(D) Inter-industry differentials

Which of the following is not a
determinant of wages 7

(A)  Prevailing wages

(B) Bargaining strength of Unions
(C) Job Evaluation

(D)  Performance Appraisal
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44.

45,

46.

frfefaa gemmett & % ofed &9 &
IE Y oNE ovEty & A H
AT T

() &M Sirg amEtd

(i) T ®IEES AR

(i) ®REFT AutER W Ut

[ERISIC

T AT FH ST

(ii), (i), (iii), (iv)

(ii), (iii), (iv), (i)

(i), (i), (iv), (iii)

(iv), (ii), (iii), (i)

(iv)
(A)
(B)
(C)
(D)

“SHedTUT IR O Haryd Fefafaa |
T HIT G o1 T&l Tel € 2

(A) HeamT AUHRT T WL HREMT
tafTay, 1948 W @A Afatam,
1952 =1 4 fepam T € |

FHET0T HRT o Heied SR MG
faremr & ofeenfod ofR feifa € |
Feamwr AERt H e e
e | Fitd =gan wEad §
TEEE |

FHETT DR Tt W “37T Tt
% ETH T B E |

(B)

(C)

D)

99 i faeivdret & 98 § efatad 5 9

I T HU TEl Tl € 2

(A) 91 U T g orel o € |

(B) &9 & AT ¥ Uk el [T ST
HFHaT & |

(C) HEIRT N HE ARRIT o Tl
T

(D) =19 Gt st wifq oeiten i iaeter
BT |
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47.

48.

49.

50.

9 IR o O | FHefofad & | 9 9
T el e € 2

(A) I IR & 9ifd 59 TR H
fergetaor fomar STan & |

T TSR B ol H G ISR
Afersh T BT § |

T AR G T 9| IR | skl
31X TasheT o ot STl Fae grar
T

90 ISR H UHIYFER agd e
T

(B)

(€)

D)

THE AIG BT 3T TerEd et & -
(A)  =ere HIg

(B  Sfiferer wrorgdr

(C) o Horgd

(D) et it

A 1S TAfeAREd i 2 HRT &
(A) 37 g SfeR
(B) of: ¥FeX HR
(C)  3TaRT ST 3k
(D) 3ia: a3

fefeIfad 9 9 i 91 9dq &1 4R T8
g9

(A) forrmr woigdt

(B) U9 I WSSt i wIferd
(C) P Hoah

(D) A R qodie
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